BEANRE B IE Sl A 5 X A2 K 2 B (-1 Am) SR SR 5t

% R R& - MAKSTE BfL % B B ® #8 m o=
BRI 10, 555, 820
RETES 10, 555, 820
AR SR & 10, 555, 820
AR SR & 10, 194, 000
REHETE 137, 300
1 B&&tatE 1.00 137, 300 137, 300
=
REHEHRTE 918, 000
2 HREFEHRTE 1.00 918, 000 918,000
=
BEHEE (1) 2,593, 900
3 EHEHEN) RBERER 1.00 1,054, 200 1,054, 200
=
4 BEFHEFEA) FRARR 1.00 1,054, 200 1,054, 200
=
5 EFEE ) EFRF 1.00 485, 500 485, 500
=
BEHEE (2) 2,132,200
6 BEFETE (2 RBEERER 1.00 680, 400 680, 400
=
1T EHEHEQ FRARR 1.00 680, 400 680, 400
=
8 EFETE () EFHRF 1.00 771, 400 771, 400
=
HEHE 461, 600
9 HEMEHE 1.00 461, 600 461, 600
=




BEANRE B IE Sl A 5 X A2 K 2 B (-1 Am) SR SR 5t

B F Bk 2,252, 800

10 HEER 1.00 2,252, 800 2,252, 800
=

E 223, 800

11 %% - |E 3.00 74,600 223, 800
=l

BE 428, 200

12 BE 1.00 428, 200 428, 200
=

B 1,046, 200

13 S|REEMER 1.00 1,029, 800 1,029, 800
=

14 AFRAERMER 1.00 16, 400 16, 400
=

EEEE 361, 820

EHARE 95, 420

15 EBHAME 1.00 95, 420 95, 420
=

B 230, 000

16 EHAHE M 1.00 230, 000 230, 000
=

Z Dt 36, 400

17 BIXERE (E=42 Y UJVHRE) 1.00 36, 400 36, 400
=




WiEE &I B A B X FE# X F B (- 14m) MR ER &
% g - AKTiE Bifr 2 fiff & #B w E

BRI 10,194,000 + 361,820 10, 555, 820
BEEAGE 10, 194, 000
E#ERE 361,820
T At R i 10,194,000 x 53.85% ( 35% + (1 — 35%) ) 5,489, 469
KHRE 10,555, 820 + 5,489, 469 16, 045, 289
—REEES 16,045,289 x 53.85% ( 35% + (1 — 35%) ) — 5,677 8,634, 711
KB 16,045,289 + 8,634, 711 24, 680, 000
HEREHELE 24,680,000 x 10.00% 2,468, 000
EHERH 24,680,000 + 2, 468, 000 27,148, 000




Rifiz -/ \v7r—o

B R E B A I ¥ 30 X = B (- 14m) BT 3R &

&5 1
B RETETE =1
£ 7 R - BIRTE BARL 2 B Of € # B &
FEHED (55
A 1.50 57, 400. 00 86, 100
HEn (A)
A 1.00 51, 200. 00 51,200
= it 1YE%HeH - 1.00K 137, 300. 00 137, 300
&5 :2
B ERETRGERE =1
£ 7 R - BIRTiE BAGL 2 B Of € # B =
FEHED (55
A 3.00 57, 400. 00 172, 200
HEn (A)
A 4.00 51, 200. 00 204, 800
e (B)
A 5.00 40, 600. 00 203, 000
A (C)
A 5.00 32, 800. 00 164, 000
Hftt 8
A 6. 00 29, 000. 00 174, 000
= 5 1E%HeH - 1.00K 918, 000. 00 918, 000
%5 :3
2% BEmEE () #REERR =1
£ 7 R - BIRTiE BAGL 2 B Of € # B =
F{EHED (55
A 1.00 57, 400. 00 57,400
HEn (A)
A 8.00 51, 200. 00 409, 600
e (B)
A 8.00 40, 600. 00 324, 800
A (C)
A 8.00 32, 800. 00 262, 400
= it 1YE%HeH - 1.00K 1, 054, 200. 00 1,054, 200




Rifiz -/ \v7r—o

B R E B A I ¥ 30 X = B (- 14m) BT 3R &

2=
&F : EAREE () FERARR XLy
%4 7 R - AR R BAf = B i & # # B &
FAEHED GRED
A 1.00 57, 400. 00 57, 400
HEn (A)
A 8.00 51, 200. 00 409, 600
HEm (B)
A 8.00 40, 600. 00 324, 800
A (C)
A 8.00 32, 800. 00 262, 400
& it E%82H : 1.00=% 1, 054, 200. 00 1, 054, 200
E =)
& EREE () EFERR XLy
% E7 R - AR R BAf = B i & # & B =
FAEHED GRED
A 1.50 57, 400. 00 86, 100
HEm (A)
A 3.50 51, 200. 00 179, 200
HEn (B)
A 3.00 40, 600. 00 121, 800
A (C)
A 3.00 32, 800. 00 98, 400
& it E%82H : 1.00=% 485, 500. 00 485, 500
ES:6
& EEREE Q) KERR XLy
% 7 R - AR R BAf = B i & # # B =
FAEHED GRED
A 1.00 57, 400. 00 57, 400
HEm (A)
A 5.00 51, 200. 00 256, 000
HEn (B)
A 5.00 40, 600. 00 203, 000
A (C)
A 5.00 32, 800. 00 164, 000
& it E%82H : 1.00=% 680, 400. 00 680, 400




Rifiz -/ \v7r—o

B R E B A I ¥ 30 X = B (- 14m) BT 3R &

&5 .17
2% BEHEE 2 FEARR 1LY
£ 7 R - KT By = B Of € # B &
FEHED (55
A 1.00 57, 400. 00 57,400
HEn (A)
A 5.00 51, 200. 00 256, 000
e (B)
A 5.00 40, 600. 00 203, 000
A (C)
A 5.00 32, 800. 00 164, 000
= it 1E%HeH - 1.00K 680, 400. 00 680, 400
%5 :8
2% BEHIE 2 EHBRR XLy
£ 7 R - KT By = B Of € # B =
F{EHED (55
A 1.50 57, 400. 00 86, 100
HEm (A)
A 5.50 51, 200. 00 281, 600
e (B)
A 5.50 40, 600. 00 223, 300
A (C)
A 5.50 32, 800. 00 180, 400
= 5 1YE%HeH - 1.00K 771, 400. 00 771, 400
5:9
2% WEHE 1LY
£ 7 R - KT By = B Of € # B =
A (C)
A 7.00 32, 800. 00 229, 600
Hftt 8
A 8.00 29, 000. 00 232,000
= 5 1YE%HeH - 1.00K 461, 600. 00 461, 600




Rifiz -/ \v7r—o

B R E B A I ¥ 30 X = B (- 14m) BT 3R &

H5:10
& g K - BAIKTE B = B @ * & # w &
e (A)
A 5.00 51, 200. 00 256, 000
A (B)
A 19. 50 40, 600. 00 791, 700
e (C)
A 19. 50 32, 800. 00 639, 600
BT &
A 19. 50 29, 000. 00 565, 500
& B EZBER - 1. 00 2,252, 800. 00 2,252, 800
&H5: 11
& - BE 1mEY
4 g K - BT B = B @ * & # ® &
EXETHE H))
A 0.50 57, 400. 00 28, 700
e (A)
A 0.50 51, 200. 00 25, 600
A (B)
A 0.50 40, 600. 00 20, 300
& it {EZ8ER - 1.00mE 74, 600. 00 74, 600
H5 :12
4 g K - BT B = B @ * & # ® &
EXETHE H))
A 3.00 57, 400. 00 172, 200
e (A)
A 5.00 51, 200. 00 256, 000
& it 1EZE8EH - 1. 00X 428, 200. 00 428, 200




Rifiz -/ \v7r—o

B R E B A I ¥ 30 X = B (- 14m) BT 3R &

H5:13
£ WEEIER ——
% # A% - ARk B 8 CA & #® m %
EAEHAR (RED)
A 3.00 57, 400. 00 172, 200
HE (A)
A 4.00 51, 200. 00 204, 800
Bn (B)
A 8.00 40, 600. 00 324, 800
HE (C)
A 10. 00 32, 800. 00 328, 000
=) & ESE .00= 1,029, 800. 00 1,029, 800
514
E 75 DRI R =5y
% # SRR - ARk B & C & #® ] %
HE (C)
A 0.50 32, 800. 00 16, 400
=) & EERED - 1.00K 16, 400. 00 16, 400
H5 : 15
&1 FHARR ——
% # SRR - ARk B & C & #® m %
SEARE
= 1.00 95, 420. 00 95, 420
=) &t EERED (- 1.00K 95, 420. 00 95, 420
H5: 16
£ EBHER ——
% # SRR - ARk B & C & #® ] %
EBRARE
= 1.00 230, 000. 00 230, 000
=) &t EERED - 1.00K 230, 000. 00 230, 000




REAR-ET/Avr—> I Ha 2 5 8 K [0 3 0 X 2 B (— 1 Am) SR SR 5

&5 : 11
& MIERERE (E=4 Y VJHRE)
2 Lo B - BIKTiR BARL H = B {f £ W E B &
E-HYUTRE
TI7E 1.00 36, 400. 00 36, 400
& &t EZHeH ;- 1.00x 36, 400. 00 36, 400




